
5

1
4

3

2

8

8

7

6

7

MONTAGGIO
- Inserire i 2 seeger nelle rispettive sedi;
- Utilizzando i seeger come piano d'appoggio, inserire le camme 
del finecorsa;
- Premontare il gruppo finecorsa e fissarlo al cassone mediante 
viti e dadi;
- Al termine del montaggio, regolare le 2 camme finecorsa per 
l'uso desiderato.

ASSEMBLY
- Insert the 2 seegers in their respective seats;
- Using the seegers as a support surface, insert the limit switch 
cams;
- Pre-assemble the limit switch unit and mount it to the body 
using screws and nuts;
- At the end of the assembly, adjust the 2 limit switch cams for 
the desired use.

ATTENZIONE: Cablare il gruppo finecorsa 
ausiliario al sistema di controllo desiderato 
mediante un cavo di lunghezza opportuna 
(cavo non fornito).

ATTENTION: Wire the auxiliary limit switch 
unit to the desired control system using a 
cable of suitable length (cable not supplied).

Art. FC-AUX

DEA SYSTEM S.p.A.
Via Della Tecnica, 6 - 36013 PIOVENE ROCCHETTE (VI) - ITALY
tel: +39 0445 550789 - fax: +39 0445 550265
Internet: http:\\www.deasystem.com - E-mail: deasystem@deasystem.com

I6
49

32
X 

- R
ev

. 0
0 

 (1
7-

06
-2

02
0)

Finecorsa supplementare per TRAFIK - Additional limit switch for TRAFIK - Fin de course auxiliaire pour TRAFIK - 
Zusatzndschalter für TRAFIK - Finales de carrera adicionales para la TRAFIK - Fim de curso suplementar para TRAFIK 
- Wyłącznik krańcowy dodatkowy do TRAFIK - Дополнительный концевой выключатель - Extra eindeloop voor 
TRAFIK

8

Pos. Descrizione Description

1 Dado autobloccante zn M3 Self-blocking nut M3

2 Vite tcc zn M3x30 Screw M3x30

3 Vite tcei zn M5x20 Screw M5x20

4 Rondella zn Ø5 Shim ring Ø5

5 Dado autobloccante zn M5 Self-blocking nut M5

6 Vite tcei zn M4x40 Screw M4x40

7 Seeger esterno Ø30 Seeger ring Ø30

L=4,8mm

Rated voltage Resistive load

250 VAC 16 A

125 VDC 0,6 A

250 VDC 0,3 A


